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= 5% 5/148 (B)

XevESTNTHST

BEAE . HARYTAHX (RFEDEE) SmMAK: 45N (Bt : 44N - & 1A)

HDCPERR : 5314 :36.4 - &Mt :40.4 HTHHYITH: FT)L/— (PAR x 2)

RLA—L: 0T D@R®®Q® IN DDBWB®

RIRELRE : R F U THA—FK(JORIR) - Hov bRy y ENfl - 5530 54 5A148 (B)
JIE 52 ZmEA ouT IN GROSS HDCP NET k=
B B Hik 58 45 42 87 | 22.6 | 64.4 BG
#EH B5H F 41 49 90 | 21.8 | 68.2
3 i |FiR EF 48 47 95 | 25.8 | 69.2
4 I | BFH FHE 41 49 90 | 20.5 | 69.5
5 i ik 13 46 44 90 | 19.4 | 70.6
6 i | I #EX 47 46 93 | 22.1 | 70.9
1 61 %kE &1 48 46 94 | 22.8 | 71.2
8 i | ME XE 47 40 87 | 15.7 | 71.3
9 L Kith ®iE 45 47 92 | 20.5 | 71.5
10 iz | XEHEB RIL 90 o1 101 29.2 | 71.8
11 41 [tk &RX o7 48 105 | 33.1 | 71.9
12 i | &2 fnif 50 47 97 | 24.8 | 72.2
13 i | RIF £& 53 46 99 | 26.7 | 72.3
14 1 |ZEH f2— 52 46 98 | 24.8 | 713.2
15 i | F# F15H 47 47 94 | 20.8 | 73.2
16 £ | fEmk B— 51 44 95 | 20.9 | 74.1
17 451 | ) ERB 49 o1 100 | 25.9 | 74.1
18 4z | B JII /MAXER 42 47 89 | 14.8 | 74.2
19 2 | Kith & 51 91 102 | 27.6 | 714.4
20 u EAx R— 95 48 103 | 28.1 | 74.9
21 4 |8 E— 49 46 95 | 20.0 | 75.0
22 i | SH B 51 46 97 | 21.8 | 75.2
23 fu | {eH ZEH 51 49 100 | 24.6 | 75.4
24 {1 |BhJII A 47 44 91 14.9 | 76.1
25 L BAH mE 90 92 102 | 25.6 | 76.4
26 2 | K&F%Zx BA 49 41 90 | 13.1 | 76.9
27 £ |fiE 7 45 o4 99 | 21.7 | 71.3
28 1 | BEA F— 58 46 104 | 26.5 | 71.5
29 i |KiFE BE 52 47 99 | 21.3 | 11.1
30 fi | fRHEH HFAER 54 96 110 | 30.5 | 79.5
31 iz | EAT 56 58 114 | 33.6 | 80.4
32 fu |[1BE M8 58 56 114 | 33.2 | 80.8
33 L TR & 50 59 109 | 27.9 | 81.1
34 i GERD fth 62 56 118 | 36.4 | 81.6
35 fi |fW[R F0Z 47 o4 101 18.9 | 82.1
36 fif | db#t #H— 99 49 108 | 25.0 | 83.0
37 4 |[IRH# & 65 95 120 | 36.4 | 83.6
38 i Bl EZ 99 50 109 | 25.3 | 83.7
39 i | IFHF EHR 60 54 114 | 29.7 | 84.3
40 1 PR EME 59 50 109 | 23.9 | 85.1
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F#ERSM: £% 54 5A148 (H) FyYYEALTINLTHST
BEAE:  FANYVTAHR (RFEHESEL) SmAR: 450 (B 44N - &M 1A)
HDCPLBR : B4 :36.4 - &t :40.4 #THEVITH: FTL/A— (PARx 2)
RLA—IL: OUT ®@@@®®® IN (2111 I® 2/ 2
BIRGLRTE : T v F I A—F(JARIB) AoV by FNRI : %0 54 5RA 148 (B)
JIE 43z SmES ouT IN GROSS HDCP NET 5
A1 1 [IFE BEX 62 60 122 35.5 | 86.5
42 i1 | 5 XRER 64 93 117 29.9 | 87.1
43 41 |ZER %= 53 60 113 25.9 | 87.1
44 451 A BiE %4 99 109 21.7 | 87.3
45 1 | KXHEBE = 66 58 124 36.3 | 87.17




